¥ 2ERARISH Ao OOVERFHEIZ0VT L LA/ LRER

vid 2025455 30H FEIER
4K 58 6H 78

1|k |B8StR12  (H-30,32nH-5 7 JLIES 1R TA4—AEI=E 1[H 1|
2|7k |HRETR3 (H—3o,32n,H~57‘)b§g% 2|%& ~52FT v 2|R 27K |#%i%2 (d-30,1,H2)
3| |BBEINT2  (cocktail,33, RS LIES 3|+ P ESES (H-14,1H2) r>JLIEH 3| K
4% 4|8 4[/K |FB5TR12  (H-3032nH rSJ LI NEA DS (H-14,1H2)
5|+ TA—ABIZE 5[A 5| K [EBHIR3 (H-30,32nH r57LIEH 5|+
6|H ~5/9F T 6N kS 6|H
718 [ 4 715K ] 7t 7B
8| X [ |BTRR THETE 8| K 8|H 8|4 [H#f1.2 (p—70,32p,H1)
9|7k 9| 9[H 9K [F#34 (p—70,32p H1)
10| K 10|+ 10K | k1 (d-351H2) rS5TLES 10| K
IHIEAR] 112 11|7K |BBEIN1,2  (cocktail 33, +5TLEL] 1%
12|+ 12| B o LEsr 12| K |BB&tT A+ (cocktail, 33, FS5T LI 12[+
13|H 13|k 13(& 13[H
14( B 14[7K 14[+ 14| B
15| K 15| K 15| 15|k [IFH23 (D-25,31-1,H2)
16]7K 16| ! 16/ 8 16[/K [ KZ%2 (H-14,1H2)
17| K 17|+ INPNEES (H-25,1 H1) 17[K [FF)I1.2 (p-8052,H1)
18|& 18| H 18|7K | k1 (d-35,1,H2) 18(%&
19/ 198 19[K | K% (H-14,1H2) 19|+
20|H 20|k 20| & 20| H
21| B 21|k 21|t 21| A
22K b—FHBL 22| K 22|H 22| K |FK2 (H-25,1H1)
237K SEEEEE L 23|& 23| A 23|k |BBEIR1,2  (H-30,32nH1)
24| K 24|t 24X IR A1 (d-40,31-1H2) 24| K |BBSIRS (H-30,32nH1)
25(& 25(8 25|k [BBEIN1,2  (cocktail, 33 H3) 25|%
26|+ 26| B 26| K |BBET Ak (cocktail 33H3) 26|+
27|H 27|k |PRsEFZE  (cocktail 33H3) 27|1%& 27|H
28| A 28| K |pREFZE  (H-25-H1) 28| 28| B 1
29|k 29| K |psEF e (p-70-H1) 29| H 29|k TA—AETE
30|7K v 30| £ |pEFZbE  (p-80-H1) 30| B 30|k

ES 31| K

BEFR.F - HER BER. ALV RITSVRNI+A—L4 J%:ECR10. #% :ECR1. 2. (A iE EE : 8:00NEAEEALA, 20.008] &



=L REZ T E

AT - EIEHAR

rT

BERHARM

HEFI A7 HAR

a7 HE T HRE

8A 9A 104
1€ |ivi2aER 118 TA—ABIES 1|7k
2|+ TA—ABIE 2| K 2| K
3B 3|k 3|&
4{A 4| K 4|t
5k 5(% \ 5(8
6|k 6|t 6|8
AEN 7(8 PN
RES 8|8 1o LiBEn 8|7k
9|t 9| N 9| K
10| B 10|7K 10|&
11| B 11| K 11|t
12| 12| 12|H
13[k SRR 13|* 13| A
14| K 14|18 14| K
15| 15| B 15|7K
E= 16[ K mETAR 1| |16]K
17|18 17[7K 17| %
18( B TA—ABTE 18| K 18|+
19| A 19| 19|18
20|7K 20(t 20 B
21| K 21|H 21|
22| & 22| B 22| 7K
23|+ 23k 23| K
248 24{7k 24| &
25| B 25K 25(+
26X 26| & | 1268
27{K 27|t 27|A8
28(K 28|82 28[:k
29| % 29| B 29[k
30/t 30X 30(K
31|H 1ES




